Half Door
Installation Instructions

For. CJ5 (1976-1983) Part Number: 53027

BestoP

Congratulations on your purchasing decision. Bestop designed these Doors to give you years of dependability and performance with proper
care. If you encounter any problems during the installation of your Doors, or at any later date, please contact your authorized Bestop dealer
or call our Consumer Response Department, Monday - Friday, 8AM - 4:30PM (MST) at 1-800-346-3910 or (303) 465-1755 in Colorado.

WARNING
Installation Tips
This product is designed primarily to enhance the ap-

pearance of the vehicle and to shield the occupants Before you begin installing this door assembly,
from ordinary weather conditions. Do not rely in any read all instructions thoroughly. Below are a few
way on the components of this product to contain tips to make this installation easier.

occupants within the vehicle, or to protect against

injury or death in the event of an accident. This top will For a smooth fit:

not protect the occupants from falling objects. Never It is normal for fabric to contract and wrinkle
operate vehicle in excess of manufacturer’s specifica- when stored in the shipping carton. Within a
tions. few days after the installation, the fabric will

relax and the wrinkles will disappear.

lWEAR SEAT BELTS AT ALL TIMES '

Read and follow, precisely, all installation instructions
provided when installing top. Failure to do so may result
in a poor fitting top and could place occupants of the
vehicle in a potentially dangerous situation.

Rev.B 0524



Parts List and Hardware ldentification

Door, Lower - Right
Door, Lower - Left

Vertical Mount - Left, Qty - 1,
Part Number 207.30

I
0 Vertical Mount - Right, Qty - 1,

Part Number 207.29

#10-24 Truss Head Machine Screw -
Black, Qty - 12, Part Number 195.92

=
E =
.

#10-24 Locknut, Qty - 12,
Part Number 195.93

-
®
o

5/16" Black Washer,
Qty - 4, Part Number

233.04
Door Striker - Right, Qty - 1,

Door Striker - Left, Qty - 1,
Part Number 212.87

Q Part Number 212.88
<>

Qﬁl?]

5/16-18 Tapping Plate, Qty - 4,
Part Number 200.50

@-0

@-0'

O o

o O @

Paddle Handle
o S Part Number 245.46

5/16-18 x 1" Phillips Head Bolt,
Qty - 4, Part Number 236.20

Tools Needed

7/32", 3/32" Drill Bits
Drill Motor
Hammer

/////BEI-ZP 53027 pg 2

7/16" Wrench

Phillips Screwdriver
Center Punch

Rev.B 0524




Warning:
The doors in this product are designed only for protection against
the elements. Do not rely on the doors to contain occupants within

the vehicle or to protect against injury during an accident. Door
handles are only designed to aid in door closure. Door and handle
will not support a person's weight.

Step One

Locate the pre-cut "X" in the lower door panel where the Paddle Handle will fit
into the mounting plate on the door frame. Fold the pre-cut fabric back and
insert the Paddle Handle into the mounting plate so that the latch mechanism
is inside of the vehicle and the latch bolt is toward the rear of the door. Align
the four holes in the Paddle Handle Assembly with the four holes in the mount-
ing plate. Use a pointed tool to punch four holes in the fabric to match the
holes in the Paddle Handle and the mounting plate. Insert four #10-24 Truss
Head Machine Screws from the outside and secure them with #10-24 Lock-
nuts. Do not tighten the screws until all four are in place. Trim the excess fabric
around the Paddle Handle. Repeat for both lower doors.

Paddle Handle
Assembly

#10-24 Truss Head
Machine Screws and
#10-24 Locknuts

Mounting Plate

Rear of Door

Step Two

Hold the door straight out from the vehicle with the hinge pins over the
body hinges. Lower the pins into the hinges. Make sure that the pins are
fully inserted into the body hinges. Close the door and check all sides to
make sure that it fits properly against the body.

Paddle Handle
Latch Bolt

Inside of Door

/////BEI_ZP 53027 pg 3

Rev.B 0524




Step Three

Mount the Vertical Retainer Mounts on the vehicle, just behind the door
openings. Install the mounts using two 5/16-18 x 1" Phillips Head Bolts,
two 5/16" Washers and two 5/16" Tapping Plates.

5/16-18 x 1" Phillips
Head Bolts

Sport Bar
Vertical Retainer

5/16" Washers
5/16" Tapping Plates -

under ledge AN

Outside of Vehicle

/////BEI-ZP 53027 pg 4

Rev.B 0524




Step Four

Close the door against the body and place the Door Striker behind the
Paddle Handle Latch with the flat surface to the inside of the vehicle
and with the raised end toward the top. Install the Door Striker on the
Vertical Retainer Mount with two #10-24 Truss Head Machine Screws
and two #10-24 Locknuts. The Door Striker may be adjusted in or out
until you are satisfied with the way the door shuts and opens. Repeat
on both sides of the vehicle.

Locknuts

Detail of Door Strike

Outside of Vehicle

Locknuts

~ - Door Strike

o 7

Screws L y/

Close the door and check all sides to make sure that the door fits
properly against the body. If necessary, the door may be bent slightly

to fit the contour of the vehicle body. The tension of the door may be
adjusted by adjusting the handle.

/////BEI_ZP 53027 pg 5

Rev.B 0524



% Care and Maintenance of your Bestop Product

Your Bestop product is made of the finest materials available. To keep it looking new and for the maximum possible wear, it will need
periodic cleaning and maintenance.

Fabric: The fabric should be washed often using soap, warm water and a soft bristle brush Rinse with clear water to remove all traces
of soap. Bestop recommends using Bestop Cleaner (part no. 11201-00) and Bestop Protectant (part no.11202-00) for Vinyl fabric and
Bestop Twill Protectant (part no. 11207-00) for Twill fabric. Bestop Cleaner and Bestop protectant are specially formulated to provide a
total cleaning and protection system. Bestop Cleaner safely removes the toughest stains, will not harm vehicle finishes, is biodegradable
and environmentally friendly. Bestop Protectant protects against UV-fading, cracking and hardening, and repels dust, grease, dirt and
mildew.

Windows: Keep windows clean to avoid scratching. DO NOT use a brush on the windows! Wash with a water-soaked cloth or sponge
and a mild dishwashing detergent. Bestop recommends Bestop Vinyl Window Cleaner (part no. 11203-00), which safely cleans and
protects vinyl windows and helps prevent UV damage. NEVER WIPE THE WINDOWS WHEN THEY ARE DRY. Be careful when cleaning
snow or frost from the vinyl windows since they are easily scratched and may crack at low temperatures. DO NOT roll the sides or rear
window in cold weather. The windows become stiff and will crack. Cracks caused by misuse in cold temperatures are not covered under
warranty.

Water: Seeping through at the seams may be stopped by applying 3-M Scotchgard® on the inside of the seams.

Snaps: Keep snaps cleaned and lubricated with silicone to help prevent snaps from sticking to the studs. If a snap does become stuck
to a stud, use a screwdriver and GENTLY pry apart to prevent permanent damage to the snap or the top fabric.

@ Normal Slider-
Jaws Parallel
Damaged Slider-
Jaws spread apart

Zippers: Keeping zippers cleaned and lubricated with Bestop's Zipper Cleaner

(part no. 11206-00) will help prevent damage and keep the zippers in smooth work- @;D]\]j;

ing condition. If a zipper opens behind the slider, the slider may have been spread

apart. This problem can usually (Sometimes broken)
be repaired by using an ordinary pair of pliers to bring the sides back into parallel.

Return slider to the end of the zipper in the normal Open position. Squeeze lightly @

at first and test the zipper. If the zipper continues to remain open squeeze more

firmly with the pliers and try the zipper again. Repeat this procedure until the zipper
operates correctly.

For Bestop Warranty Information, Please go to;
https://www.bestop.com/help/warranty-information/






